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Instructions:

There are 15 multiple choice questions each worth 2 points for a total of 30 points.  Please pick the best answer from the choices available.  There are also 14 short answer questions worth 5 points each for a total of 70 points.  Your answers may be a few words, a single sentence, or a short paragraph.  Make sure your answers are complete as written without reference to non-included material.  Assume the question is asking about US law unless specifically identified otherwise.
By submitting this test, you agree that your work on the test including your answers is your own.  While you may consult your book, notes, and any available recording, you may not consult with any other person including other students in completing your test UNLESS that person is your class student partner and specifically named above.  If you decide to use this optional partner on the test, you must submit only one completed test with both of your names indicated above.
Multiple Choice Questions:

1 – In accordance with the Federal Circuit, 35 U.S.C. §112 has a separate written description requirement.

A – Yes

B – No

C – Maybe

2 – Pre-AIA, if an inventor did not have a preferred material used in a claimed invention, the inventor’s invention would be invalid for failing to describe a best mode as a direct result.
A – True

B – False

3 – You cannot have a valid claim in means plus function format without disclosing corresponding structure, material, or acts in the specification.
A – True

B – False

4 – A patent application must be enabled at the time of filing.
A – True

B – False

5 – The preamble of a claim limits the scope of the claim.

A – Yes

B – No

C – Maybe

6 – Regardless of the claim transition used with a claim, a device sold by another that incorporates all claim elements included within the claim along with additional elements infringes the claim.

A – True

B – False

7 – A dependent claim must further limit the claim on which it depends.

A – True

B – False

8 – An examiner can look beyond the field of the inventor’s endeavor in identifying prior art used in an obviousness inquiry.

A – Yes

B – No

C – Maybe

9 – A claim that recites an abstract idea cannot be patentable.
A – True

B – False

10 – Can an Examiner issue a proper obviousness rejection by simply showing that all elements of the claimed invention exist in the prior art?

A – Yes

B – No

11 – Under US law, a claim ordinarily cannot be defined by specifically referencing the specification.

A – True

B – False

12 – The indefinite article “a” or “an” in a claim can refer to one, or more than one, element. 

A – True

B – False

13 & 14 – A claim of the patent has the following elements:

W;

X; 

Y; and

Z

13 – If the transition is “comprising”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe

14 – If the transition is “consisting essentially of”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe

15 – The patent office will allow you to patent a signal claim.
A – True

B – False

Short Answer Questions:
1 – When can narrowing claims violate the written description requirement?  Explain.

2 & 3 – Name at least two instances when the scope of your claims can be limited by the drafting of the specification.
2 – 

3 – 

4 – After the AIA, must an inventor still disclose the best mode?  Explain.
5 – What advantage does a product by process claim provide relative to a method claim?

6 – When do you need to include an algorithm in the specification to properly support a claim?  Explain.
7 – How do you comply with definiteness requirement?  Explain.
8 – What can happen if your patent does not describe how to make and use a claimed invention over an entire range?  Explain.
9 – Why do you want broad and narrow claims in your patent?  Explain.

10 – During prosecution, how can you fix a claim element of a claim that is rejected for lack of antecedent basis?  Explain.
11 – How can a patent examiner properly combine to references together in rejecting your patent application for obviousness?
12 – Under what grounds is the patent office currently identifying abstract ideas in pending patent applications?  Explain.
13 – Which is broader a claim that refers to an element (e.g., a clasp), or a claim that refers to a means for achieving a result of an element (e.g., a means for clasping).   Explain.

14 – Why must an applicant show a nexus between the claimed invention and objective evidence in trying to overcome an obviousness rejection?  Explain.
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